T RiF

PRXIEARL 105 2 £ FBLHALRNALE A FRNRAE
ENE R T R

#B ' %ite

B BB

—~ RRATEH G H LI P S0 K LI(10 B ANY)RE A RS
*E#(l FR)X) B 89 1% » K44 3H:E 10 44t A UAERFXFA B
WFEEM s¥=30 " 5¥'=310° TX=80 ' XX =600 * ZXY =230 °

L BREBBONFI AT LR LR FEFECORN & 23(Y)
zw@sEHiE - (109%)

2. MEGAFHAEXMS » HELAY)MEAZ(0=0.05 BE X
£F)-(10%)

3. R LG9 @FHF 2K » 2T HEF T 4 300000 3% 0 F5R)
ERHERLEN OSKIEHREM? (10%)

4. FlEGEBEFTR? (109%)

10 LB RIS B2 AR E NN 3

SE 20ty g0 = 1.895 8y 05 = 1.860 , 1, 0z = 2.365 ,ty op0s = 2.306

= BRI BATH AB - C ZHEARGLIT B MG F EAT) - ()i
SRR TRTREABAM( ()~ ()~ () (9%) 5 QUIRET 188 -
REE - GREAH - FRAHRPRAH DI LBRHAB-C =
REZHMAS%)  G)EHHBBHUGRTA® T » R RITHE

St EE O RETPRARTELRRFTARG ? LRWA LT E(6%) -

e A B C
354884 0.032 0001 0030 |
REE 0150 | e300 | Toasi
16 1610 2 -1.390 1.390 1.534

R AR 2 3.370 4.370 2,124

ER AR £on £ith sl

A TR R P

ECERNFEL p ABRATHE D f(x)=pU-p

#AAE 3 X(MLE) (1096) -

WBRENH A BHMANY S FRE
RIEIE R R0 % o8 RIS &8 m

(a=0.05)? (2095) -

Y W B R K

FH T R - 2
ROTHRARTIaE R

LY L A B.
T4 0.06 o.oaqz-,,
LY 0.15 S o2

B R(107)= 379 Fr0y (3, 8)= 344, Fy (7, 7) = 0,26, Fyo B, 8)=0.29

b, 00s =1.895 1), 005 = 1.761, ¢

7, 0025 = 2.365 g, 0025 = 2145

’

A

R

al

R)




